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A- continues function on such a domain will

attain a wax 1min
.

This happens either at

1) an anterior critical point

2) on tie hoarding .
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Last class :

critical point : Bf = 0 or DNE .

At a local man /mat in interior of domain
,

we here a crit point.

So if looking for naxlmih, in interior

need only look at critical points .

for flu) ( 2-d) we here a 2nd dear

test
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f
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f* fyy] D= / H ) - f*f×
,
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If D>0=7 local miuhinx

Do ⇒ saddle

D. =O⇒mcmdesg
f-* so ⇒ load my ( fxpy also)fxxco⇒ local mix


